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Answer one question.

1 Read the source material below and answer parts 1(@) to 1(c) which follow.
Exercise on Statutory Interpretation

SOURCE A

Royal College of Nursing v DHSS [1981]

The wording of the....

An extract has been removed due to third party copyright restrictions
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: Details:

|

: An extract from ‘The English Legal System’ by J. Martin. ISBN: 978-0340941560
|
|

Adapted from The English Legal System, 4th Edition, J. Martin

SOURCEB

The courts can, when they are trying to find Parliamentary intention, sometimes use intrinsic and
extrinsic aids. Intrinsic aids are things inside the Act, for example, the preamble, the long and short
title. Extrinsic aids are things outside the Act, for example, case law, Law Commission reports,
previous Acts of Parliament, Hansard and dictionaries.
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Answer all parts.
(@) Source A at line 10 refers to the literal rule.
Explain the literal rule using Source A and cases to illustrate your answer. [12]

(b) Using Source B, identify and explain the most suitable extrinsic aid that could be used in the
following situations.

(i) The House of Lords is considering an ambiguous word. The meaning of this word was
discussed by Parliament during the passage of the Bill. [5]

(i) The House of Lords is trying to cover a gap in the law left by an Act. This Act was based
on the Law Commission’s recommendations. [5]

(iii) The House of Lords is trying to find the plain, ordinary, literal meaning of a word. The
word is not defined in the Act. [5]

(c) (i) Source A refers to the mischief rule.

Using Source A and other cases, explain how this rule is applied. [15]
(ii) Discuss the strengths and weaknesses of the mischief rule. [12]
QWC [6]

Total marks [60]
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2 Read the source material below and answer parts 2(a) to 2(c) which follow.
Exercise on EC Law
SOURCE
Bulmer v Bollinger [1974]

Bollinger sought to prevent....

An extract has been removed due to third party copyright restrictions

An extract called ‘Bulmer v Bollinger’ from www.stbrn.ac.uk
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...... cannot be held back'.
English law has therefore been affected by the doctrines of European law, making it supreme.

Adapted from www.stbrn.ac.uk
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Answer all parts.

(@) The Source at line 13 refers to the EC Treaty. Briefly explain how the EC Treaty is part of UK

law.

[12]

(b) In the following situations, consider whether there is a need to make an Article 234 referral to
the ECJ.

(i)

(ii)

(iif)

(c) (i)
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(ii)

Jacques, a French worker, has been denied entry to the UK. The House of Lords is
considering his case. The case concerns free movement of workers under the EC
Treaty. [5]

Pam is paid less than male employees for doing the same work. She has brought an
equal treatment claim against her employer. An Employment Appeals Tribunal is deciding
the case. A reference to the ECJ in Macarthys Ltd v Smith (1980) concerned a similar
issue. [5]

Carla has brought a claim in an Employment Tribunal against her employer because they
refuse to give her any holiday entitlement, as required under EC law. [5]

Lord Denning in the Source discusses the effect of membership of the European Union
on English law.

Describe the effect of European membership on English law using cases to illustrate
your answer. [15]

Discuss the benefits of European membership to English law. [12]
QWC [6]

Total marks [60]
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